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Question
Find the area of this shape. You can assume that sides that appear parallel are parallel.
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Solution
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This is one way of subdividing the shape. Other divisions are acceptable.
[image: <EFOFEX>
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</EFOFEX>]
Notes
24 variations.

Question
Find the area of the shaded regions to the nearest square millimetre.
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Solution
[image: <EFOFEX>
id:fxd{9b3ba171-f869-40d1-aeb1-908820b5257d}
FXGP:DP-J4QZG3B
FXData:

</EFOFEX>]

Desired area is twice the area shown above.
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</EFOFEX>]  
Notes
28 variations.


Question
Find the area of the shaded region bounded by these four congruent circles
[image: <EFOFEX>
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Notes
300+ variations.


Question
Calculate the area of the shaded shape where the radius of the larger circle (OQ) is [image: <EFOFEX>
id:fxe{3b3b7c36-efb6-48f6-90b1-12fd294c67ee}
FXGP:DP-HU8FSFS
FXData:

</EFOFEX>].
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Notes
499 variations.


Question
Calculate the area of this shape.
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A(shape) = A(rectangle) + A(trapezium) – A(square)

Rectangle
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Square
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Trapezium
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id:fxe{d2497903-c083-4d44-8323-a1bc8960d836}
FXGP:DP-6ZZQFZ7
FXData:

</EFOFEX>]  

 [image: <EFOFEX>
id:fxe{6f947e39-7929-4564-a3c6-0f1e30aae817}
FXGP:DP-6ZZQFZ7
FXData:

</EFOFEX>]  

Notes
10000+ variations.

Question
Find the area of this shape that is defined by quarter circles that have centres and end points that lie on a grid. 
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There are many ways of dissecting this area, all of which are equally valid. Any valid approach should be awarded full marks.
[image: <EFOFEX>
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FXData:

</EFOFEX>]  
Notes
11 variations.



Question
Find the area of this teardrop shape where the [image: <EFOFEX>
id:fxe{16f56bdd-1e2e-4a48-a4de-4b5eb3a6951a}
FXGP:DP-RUEYWKT
FXData:

</EFOFEX>] side is tangential to the circular arc.
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Notes
582 variations.

Question
A contractor needs to lay a large concrete slab as shown below. Calculate the area of the slab.
[image: <EFOFEX>
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[image: <EFOFEX>
id:fxd{d738c3cf-6b9f-4d44-b30c-2d610add5cf8}
FXGP:DP-datEje3
FXData:

</EFOFEX>]
[image: <EFOFEX>
id:fxe{a3fcd10c-4ef2-40bd-b259-96dcaed32007}
FXGP:DP-datEje3
FXData:

</EFOFEX>]
Notes
39 variations.


Question
Calculate the area of the shape shown below.
[image: <EFOFEX>
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</EFOFEX>]
Notes
330 variations.


Question
A local community group is building bird nesting boxes and the end of the box has the shape shown below.
[image: <EFOFEX>
id:fxd{8973db3f-2912-4df1-80e0-3ac0daa52e44}
FXGP:DP-CcSVr7s
FXData:

</EFOFEX>]
Calculate the area of the shape so that the community group can order the correct amount of paint.

Solution
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Notes
2000+ variations.


Question
Find the area of this shape.
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Notes
40 variations.


Question
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Notes
700+ variations.


Question
Calculate the area of this shape.
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Notes
2000+ variations.
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